N F21 R KAy BNV — ) — =L a—F 05440031 PRRIT4ETH 24 A (R)
O INERRLS @RI ARBAA Ko gk LS
i i 1 2 3 4 5 6 7 8
it K44 - FTE ik K4 TR ALERk K44 - FTE ik K4 TR ARk K44 TR ik K4 TR ALk K44 - FTE ko K4 TR
34£100m 15.46 EHE $hHME3 15.51 E7k #9L3 15.84 fHH  F#k3 15.94 /NBF #7123 16.01 &M BE3 16.18 HHs ZEfE3 16.23 i %3 16.27 fil #43
+2.0 PEfraE +2.6 FRAEPR/NY +2.0 JENT A b +2.9 JEMTHE - +1.8 FAFRriE k- +2.9 BEAE |2 +2.0 BRI +1.5 HEEpE By
[ J BRBE [ BRBE A
14.60 #HFHE FH4 15.10 B K4 15.56 =% 4 15.65 Hi B4 15.66 JaSF fH {4 15.72 kA% HE&4 15.74 i 354 15.96 KAM KE4
44F-100m +1.4 JERTJAC +2.0 A H =Ff/hs +2.4 BIFFHE - +1.3 BUFFRHA A 27 +1.3 A H=F/hs +2.4 hpE By +2.4 Yeffke b +1.4 Koy ey
[
54£100m -0.3 14.77 EH AEFS 14.82 #H1l BEIRS 15.02 3PN f&1L5 15.14 1% B&5 15.19 1% K Z5 15.19 ki #iths 15.53 EH {E#5 15.65 t@JF FHK5
Koy ey BIF il - <<y PeqflE PhHfE b R FE Pefrpe b <
64.100m +0.0 12.74 k¥ BiR6 13.96 T K96 14.37 %k #kHA6 14.44 RER $H1VR6 15.00 A7k 46 15.07 15 )6 15.13 k4 %6 15.19 Bl = A6
@ K4y Rt EHHr77 BEpE R Al =F1/h7 EarE Ry EHHr77 EarE Ry <
361000m 3.37.78 % AL3 3.40.98 FHIF FFE3 3.43.97 52 M3 3.46.69 &M g3 3.47.16 HH #H—3 3.48.81 ki Jo&3 3.50.94 S fEM3 3.51.52 ik #HE3
@ —FEE Ly — MR Ry R bR B <7 R [E w77 el o
ME1000m 3.30.12 226 HEHA 3.31.57 BRI 3.36.04 fEIE fdisi4 3.42.36 JERH A P4 3.45.65 EHH EA4 3.49.59 ZHE 3.53.08 —H. #IL4 3.53.46 Jk K4
Koy ey erbE Fo << JERTJAC e Fo e b EHRr77 N
54£1000m 3.14.90 PAHEHESRRS 3.20.27 SHL ACL5 3.21.48 1k 2175 3.26.19 JHL SIS 3.29.32 JEE S 3.29.49 NS A5 3.30.52 22 {5 3.31.89 /hith 1% 5
@ = FEiTE Ly < —HATE Y < R bR R FE e —HATRE R
| seE1000m 3.04.83 M [EAh6 3.18.55 £ M 16 3.22.34 ¥ #3the 3.23.84 14k ik 3.25.93 Ak 26 3.30.25 VH[E Ffifi6 3.33.57 Ay 16 3.35.13 JEII K6
o, 0@ =k lr —HATRE R PhfHfE b <y BEp e o = HATRE R —HATE Y = HATRE R
; se6tEgomt | 0L 13.38 4% 6 13.44 ik A6 15.54 BiHt K76 16.24 K 25506 16.36 LI i £6
O@ Koyfpes O@ J\IEkE JERTJTAC PERT A JEm] A L
63.40 JERTJAC 65.84 A A =Fn/h7 66.51 Hefrsle b 67.52 = MR LY 67.57 KEF3s 67.59 e o 67.83 JEMT i b 68.26 Koy ey
PRy SR w | Pl 24 ) )3 R & A3 TR A4 KEY T3 &3 =% JK—RE3
@4@100&1}{ HFLE Fii 0 K4 TER 3 A %k R4 T A3 Velf ER3 i A4
FEE T4 B fE A THE HES S Tk MR E+3 JIE B3 PO 3 KB RAE3
i PSR HRA ENUEENL T ik i3 IR RFE3 Bk #HiL3 JKEY FERE4 INEF S KRR K4
56.53 Koy s A 56.56 & EFlE EA 56.83 H<HLZA 57.03 fEfAkE EA 58.87 [EH /T A 59.97 H<<7/B 62.33 = &M L7A 62.38 HHBHIOB
PR AH TENE6 ARk 26 B = A6 T w5 KL A6 NG % E6 INEE 25
4% 100mR EH S BA 5.6 TS FRIR6 Vel B85 TER IEX6 fEH FHKS G fi 5B i =15
L e KH EE6 JEH SENG RS Juife FEAT6 TR TS PFH E—6 /NEF Y6
$TE R e %k $r6 IR FH B 16 R BUES T kK6 PN RS R {6 BiFE fhHEl5
JNEE5 -6 A2 4.58 /M ERL6 4.43 /N BE6 4.11 808 FRIE6 3.95 #fitL B{—5 3.95 EH =56 3.73 [ (4725 3.72 HA #ER6 3.54 5 Fadhe
B +0.1 BIFFRI A 2 +0.5 feffkE k +1.6 << -1.0 JERTH R - +0.0 <7 -0.5 K4y Hdefis +0.0 [HEIT77 +0.2 Bt HERE R
INFB6 T 1.20 Joif 176 1.10 HFs BHAdS 1.05 A F755
Bk EHRr77 PeqflE Yefake b
IN546 31.45 FKIE Suik6 29.44 J\IE 56 28.75 HEff KE6 27.06 £ 1#Ek5 26.69 JE T¥6 25.81 w8 L6 24.76 /M EE KBRS 24.00 B TEAN5
V)R- EHfr77 Bl - EHfr77 Ehr77 i EbE KR e YT B -
7H240 (A)
RFEBIAE 10HF 110 128 13 141 15M¢ 16 171
K& 2 L i fié fié i i %
jizhis 29.5 30.5 30.9 31.2 32.0 32.0 31.7 31.6
1 70.0 64.0 62.0 59.0 61.0 60.0 57.0 57.0
JEL 7] T HUR HR bk dbAbsR Bl HUR dbdbvE
JEGH 1.8m 2.3m 1.8m 2.2m 2.7m 2.0m 2.2m 1.8m




KB NFAEVL —h—=/3)L a—F 05440031 SERLITAET A 240 (H)
O INVEFRLE: @KL Ko gk LS
i i 1 2 3 4 5 6 7 8
it K44 - FTE ik K4 TR Ak K44 - FTE ik K4 TR Ak K44 TR ik K4 TR Rk K44 - FTE ko K4 TR
34£100m 16.07 K #HI3 16.41 ZRIG P53 16.47 = JRER3 16.64 FAHESRTS 16.67 /NH FH3 16.93 {EARSS A3 16.97 F)II 73 17.02 FiE RHS3
+1.7 <Ly +2.2 JERT A RE R +2.2 e B +1.5 PP pE L +0.8 HEpE o +1.5 BABRJriE b +1.7 HefrlE b +2.0 Koy ey
[
44.100m 15.69 A M Jifi4 16.17 M 54 16.18 =i H14 16.46 % 4 16.61 Gk 1574 16.69 1% 44 16.78 £ x4 16.86 Kk FEH4
+0.5 <L +0.2 FIFE)riE k- +0.2 Koy gefis +0.5 PefE e 1 +0.2 FEBPpE o +0.2 JEMTHE - -1.0 = EMNpE Ly +0.5 15 PFpE
54£100m +0.1 14.95 I 3235 15.38 it EAf5 15.59 #KAH H &5 15.59 HERl<F HE5 15.62 7L #EA5 15.73 [ HEYD 15 15.78 {kjik 1hias5 15.99 fEjif pEs
g B R fE L JEm] A L NG N EREEN:ES R FE L g B PR AR -
64£100m +0.1 14.05 BRAEVD 76 14.08 Aff K96 14.23 #3046 14.62 Mg #f6 14.66 KIFEEFY6 14.79 HIL  E6 14.82 fEH PED6 14.96 {EBF B 16
kel NN Koy ey NN Pefpke B ErpE o Koy ey H<s
34£1000m 3.48.28 KA JE3 3.49.30 iU 3T 13 3.49.58 # i FEH3 3.59.50 " E 13 4.03.22 JrE W53 4.12.14 )18 BR3 4.20.37 T fE%E3 4.20.74 I ACHL3
@ K4y Rt @ 1effkE L @ —HEIE Ly yRAEIRNY = HATE Y —HATRE R = HATE Y e Fo
ME1000m 3.28.62 ZRH 1H#4 3.31.44 B2 MFE4 3.44.94 JLHE FA4 3.57.93 E4s miHk4 4.01.49 EH FRgz4 4.06.45 Y (A4 4.08.01 #Ak /4 4.10.33 \3K FEF4
O@ —HENE Ly @ H<ix” kel NN BEpE R EHHr77 B bR BIF il -
54£1000m 3.26.62 LA U5 3.32.49 AK HEXS 3.33.68 K RRHAES 3.38.17 M %5 3.38.32 KA A5 3.41.46 % HES 3.42.72 /B EL45 3.44.70 f&H EHS
by = s A JrfE PeqflE P b b A e - H el - A i -
6££1000m 3.18.84 &k L6 3.25.91 U 6 3.31.17 K% ¥ 6 3.34.33 18 HiYRIF6 3.38.42 ¥k a6 3.40.44 A b EH6 3.41.30 M4 1L E6 3.44.67 fHL Jh6
7N PiHfE b e Fs BEp e o = s KiEFsis B ErpE o =ebE ks = s
= 5-64E80mH -1.1 15.67 JI%F #k3%6 16.75 1Efh  7hfk6 17.89 1[5 18.48 #RIFF 5 18.60 7k H /36
*® JEm] A L [ [E] JEm] A L PERT A L BEAbE o
65.59 H<HL7 66.93 —HEHTFE FVA 67.04 KoyHHgepEsA 67.22 1E35kE Fy 68.68 JEMTHFE EA 69.03 JEHTHFE B 69.06 BIFHIkE 69.21 il o
PRy fEFHHh a3 " zv4 HEIR J1364 EAFERT3 i 1l B4 Vet %3 ME ET3 B A3
4% 100mR UNESEE Y M AEHI4 Ik %EA4 K FEH4 /N ORREH3 A0 4 KIE 53 AN )
Ei w3 B A4 HE H74 3 k14 R B3 MEm AR7E3 MM A4 WF Gk
i ME4 A R4 = B4 ik EE4 FrlfE MHE3 ERE AER A HLEE4 —VIREERS
56.00 Koy s A 60.05 EEFpE VA 60.20 << 60.50 #efriki EA 60.55 Koy fEsB 61.03 ExEkJrfE EA 61.52 BIFHIA 2
PR = Ri#6 T 6 A EE6 WA BF6 SRR <5 R S KEF WS R ZZA5
4% 100mR IR HR6 THE 6 FRIERT6 KFEIB6 fiE e ERNe R 46 7K A 76
D 56 £l 6 kS 256 Vel 1hitke IS 3Em6 #HE Wike URTAR /T
ks k6 M ¥6 VEBFELHR 16 2 Em¥e WE FT16 A VD ZR6 9 1 snite
SN 1.20 IAA RRHES 1.15 3 E¥e 1.10 17 776 1.10 &7 H&E6
B HbE b PeqalE Pefrpe b BTl -
JNEE5 -6 321 4.38 YA 35326 3.95 R FELR6 3.76 JLHH A6 3.75 i FTHS 3.73 B H46 3.70 BHE 6 3.66 /INRH 16 3.63 15K A #&6
Bk +1.8 FEAR/DN +0.5 e o -0.1 e o +1.1 B BrpE Lo +1.0 = EMpE s +1.0 PEAf R 1 +0.5 JENT A E +1.3 BIFFRH A 2
INE5 6 31.69 4dbEHI1-6 29.97 HIK #3E6 29.15 JIIH E¥6 25.18 (LA #5716 24.10 P HFITD6 23.59 A H46 21.05 (LM BLHLS 18.05 #E2% #EHES
VYA 0@ Yefiiaibe b 0@ fefiss k EHfr77 EHr77 IR - BEhE L N i ks
7H2410 (A)
REEBIAE 10 110 128 130 141 15M¢ 16/ 171
K& 2 i i it it i i &
jizhis 29.5 30.5 30.9 31.2 32.0 32.0 31.7 31.6
1 70.0 64.0 62.0 59.0 61.0 60.0 57.0 57.0
JEL[7] S R HUR HUR JbAbsR dbAbsR Bl HURE o)
JEGH 1.8m 2.3m 1.8m 2.2m 2.7m 2.0m 2.2m 1.8m



